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Oracle 1z0-1045-22 Exam Syllabus Topics:
TopicDetailsTopic 1- Redesigned Web Reports - Web Reports Gen 2-  Create Locations in Location MasterTopic 2- Create

Purchase Orders and integrate them with the Warehouse Management System (WMS)-  Describe the User Menu

configurationTopic 3- Handling items with Expiration Date-  Setup and System OverviewTopic 4- Create Advanced

Shipment Notifications (ASNs) and integrate them with WMS-  Describe Order Types, Create Orders, and Integrate Orders

with WMSTopic 5- Describe the System Directed Quality Control (QC)-  Miscellaneous Inventory Management Transactions

Topic 6- Oracle Warehouse Management Business Intelligence Cloud (WMS BI Cloud)-  Describe SCM Cloud Integrator (OIC)

Topic 7- Configure and execute Replenishment-  Create and check-in AppointmentsTopic 8- Describe different Inventory screens- 

Check in a Load and receive by LoadTopic 9- erform a receipt by ASN, with and without the RF and ASN verification- 

Describe the Parent-Child Company hierarchy
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NEW QUESTION 10

Identify two correct statements about ASN creation. (Choose two.)

*  The ASN number can be system generated or manually entered.

*  Oracle WMS Cloud allows creation of a single/multiple ASN from a PO.

*  Oracle WMS Cloud only allows creation of a single ASN from a PO.

*  The ASN number is always auto-generated from a sequence number.

NEW QUESTION 11

A client can integrate with WMS Cloud by using the input interface.

Which three options can be integrated? (Choose three.)

*  Appointments

*  Loads

*  Orders

*  Item

NEW QUESTION 12

Which two fields are mandatory to set up a carrier in the Carrier Set-Up UI, if you want to utilize Parcel Carriers to fulfill orders?

(Choose two.)

*  Carrier Phone Number

*  The Ship Via

*  The Company

*  The Carrier Type

*  The Description

NEW QUESTION 13

A user is using the PackNC transaction to pack into a blind OBLPN. The user needs to pick up 10 units for Item 000234, but after

picking up four units the OBLPN is full.

What should the user do?

*  move to the next location

*  end the LPN

*  short the remaining units

*  scan the next order

NEW QUESTION 14

Your warehouse is divided into two large areas, Area A and Area B, which store different products. You have set up your wave to

allocate inventory from only Area A, but when the wave is run, both Area A and area B have allocated items.

What caused the issue?

*  In the Allocation Mode, &#8220;Restrict Allocation Zone&#8221; was not specified.

*  In the Allocation Mode, &#8220;Restrict Allocation Zone&#8221; was set to Area B.

*  Allocation zone was not specified in the task selection criteria.
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*  Allocation zone was not specified in the shipping order.

*  The locations in Area A have excessive cycle count tasks against them.

NEW QUESTION 15

Select the two routing configurations that are used to specify routes for outbound loads. (Choose two.)

*  the Routing Mode on the Carrier UI Screen

*  the company parameter PACKING_ROUTING_MODE

*  the Routing Mode on the Wave Template

*  the Routing_Mode parameter on the Loading RF Transaction

NEW QUESTION 16

Identify two correct statements about the type of receiving supported by Oracle WMS Cloud. (Choose two.)

*  Oracle WMS Cloud does not allow assigning multiple ASNs to a load.

*  Receive by ASN (RF-Text: Recv LPN Shipment) allows receiving multiple ASNs.

*  If the trailer contains multiple ASNs, IB Loads can be used to consolidate then into a single record.

*  Receive by load (RF-Text: Recv LPN Load) allows receiving multiple ASNs.

Receiving

There are two main types of receiving in Oracle WMS Cloud:

* Receive by ASN (RF-Text: Recv {lpn} Shipment)

* Receive by Load (RF-Text: Recv {lpn} Load)

NEW QUESTION 17

You are using the WMS Cloud at the Stores as well as the DC. Your workflow at that Store requires that you quickly pick orders for

the customer when they arrive.

Which configuration allows you to achieve this workflow requirement?

*  Create an Order Type with the flag &#8220;Allocate during Pick&#8221; enabled so that you can pick orders at the store without

waving.

*  Set the Order Type to &#8220;Pick Without Wave&#8221;. This allows the RF options to automatically pick up those order and

display to pickers.

*  Create a Flow Through process and configure each customer&#8217;s address as a &#8220;Designation Location&#8221;

*  Change the Order Type to &#8220;Rush&#8221; and wave it because the customer is waiting.

*  Create a wave template with Wave Template Type &#8220;Store&#8221;, then wave will allocate orders in a FiFO

sequence.

NEW QUESTION 18

Identify the type of functions you need to use to handle conditional information in a report.

*  Arithmetic and Geometric Functions

*  WMS BI Cloud does not support that type of functionality

*  String Functions

*  Dynamic Functions

*  Logical Functions
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NEW QUESTION 19

Which Inventory screen should you use to configure the Inventory Adjustment Code in Oracle WMS Cloud?

*  IB LPNs

*  Reason Codes

*  Items

*  Inventory Lock Codes

Reference:

chapter5.htm#CHDBFGEA

NEW QUESTION 20

Your company has two facilities, one in California, and the other in New Jersey.

The California facility needs to exclusively check the quality of each item on receiving whereas the New Jersey one need to

exclusively perform Value-Added Service (VAS) on each unit during receiving and shipping.

Identify the Location Types that are required to be defined in the Oracle WMS Cloud to receive the items at the California Facility.

*  Reserve and VAS

*  Active and VAS

*  Reserve and QC

*  Active and Reserve

NEW QUESTION 21

In which two ways can you execute the detail cycle count of LPN Detail by sku scan? (Choose two.)

*  using &#8220;Cycle Cnt&#8221; screen with screen parameter content-count set to &#8220;sku-scan&#8221;

*  using &#8220;Cycle count for LPN deffered/immediate updates&#8221; with screen parameter sku scan mode set to &#8220;By

Sku Scan&#8221;

*  using &#8220;Resv Nbr Cnt&#8221; screen and with screen parameter content-count set to &#8220;sku-scan&#8221;

*  using &#8220;Cycle Cnt&#8221; screen with screen parameter content-count set to &#8220;Null&#8221;

NEW QUESTION 22

The above diagram shows a typical Third Party Logistics (3PL) structure.

Identify the Facility, Company, and User levels, as applicable, in sequential order (that is, the proper label for box 1 is listed 1st in

sequence).
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*  1=Facility 1, 2=Company 1, 3=Company 2, 4=Super User 1, 5=Facility 2, 6=Facility 3, 7=Facility 4

*  1=Parent 3PL, 2=Facility 1,3=Facility 2, 4=Company 1, 5=Company 2, 6=Company 3, 7=Company 1

*  1=Company 1, 2=Parent 3PL, 3=Company 2, 4=Facility 1, 5=Facility 2, 6=Facility 3, 7=Facility 4

*  1=Super User, 2=Parent 3PL, 3=Company 1, 4=Facility 1, 5-Facility 2, 6=Facility 3, 7=Facility 4

NEW QUESTION 23

Which two REST API actions are supported by Oracle WMS Cloud? (Choose two.)

*  SEND

*  RECEIVE

*  DELETE

*  GET

*  POST

NEW QUESTION 24

Your company wants to use Replenishment Wave to maintain adequate inventory levels to meet customer demand by fulfilling

customer&#8217;s orders on time.

Which Replenishment Trigger Mode needs to be set up in the Replenishment Template for the following condition?

For active Location P20A100

Minimum Volume = 20

Max Volume = 100

Percentage of Max = 20%

Length = 20, Width = 40, Height = 60
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If location P20A100 total volume goes below 20, the location is triggered for replenishment

*  Minimum Capacity

*  Reactive

*  Order Based

*  Percentage of Max

NEW QUESTION 25

Your client finds it easier to read reports without repeated values. The client shared an example report to demonstrate the way they

want their columns to be displayed.

What action should you take to make your report look like the example report provided by client?

Report A:

 

 

 

 

*  Select the Hide Repeated Values icon.

*  Select the Hid Common Values icon.

*  Select Chart Wizard, and delete repeated values.

*  Select the Suppress Duplicate Values icon.

NEW QUESTION 26
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When the Ship Load interface is generated, which statement is false?

*  The Load is updated to &#8220;Shipped&#8221; status

*  The Wave is set to &#8220;Completed&#8221; status

*  The Orders on the load are updated to &#8220;Shipped&#8221; status

*  The shipping cartons (OBLPNs) assigned to the load are updated to &#8220;Shipped&#8221; status

NEW QUESTION 27

Select two configurations required to fulfill a Cross Dock order. (Choose two.)

*  The Replenishment template is required to replenish Cross Dock Order

*  Wave template should be configured to allocate Cross Dock Order

*  The Cross Dock Outbound Order type should be defined

*  IB Shipment Type should be defined for Cross Dock ASN

*  Module Parameter should be enabled on the RF Receive Screen for receiving Cross Dock ASN

NEW QUESTION 28

Your company&#8217;s count process has two levels:

First, at the end of each quarter, the operators will need to get a list of all the LPN numbers in every location via cycle count.

Second, at the end of each month, the operators will do a spot check for any 100 LPNs and count their content information, and to

save time, they will scan each item only once and enter the total quantity of the item marked on the inner package inside an LPN.

Your company has reserve locations only for storage and you&#8217;re doing the WMS Cloud configuration for the operators.

Which two tasks should you complete? (Choose two.)

*  Create a Cycle Cnt RF screen for the operators to use, and leave the content-count RF parameter blank.

*  Create a Resv Nbr Cnt RF screen for the operators to use.

*  Enable the Recount Location Detail cc_trigger.

*  Create a Cycle Cnt RF screen for the operators to use, and set the content-count RF parameter to By Sku Qty.

*  Create a Cycle count for LPN deferred/immediate updates RF screen for the operators to use, and set the sku-scan-mode RF

parameter to By Qty Scan.

NEW QUESTION 29

Your client wants to create an Advanced Shipment Notification (ASN) automatically after a Purchase Order (PO) is created in the

system.

What step should they perform?

*  The user needs to go to the Purchase Order Screen UI and select the &#8220;Create IB Shipment&#8221; check box

*  Update the Company Parameter CREATE_ASN_FOR_EACH_PO to Yes on the Company Parameter UI screen

*  When interfacing the PO, the &#8220;create_asn&#8221; check box needs to be selected every time

*  When interfacing the shipment, the PO number should be specified

NEW QUESTION 30

Select two configurations required to fulfill a Cross Dock order. (Choose two.)

*  The Replenishment template is required to replenish Cross Dock Order

*  Wave template should be configured to allocate Cross Dock Order

*  The Cross Dock Outbound Order type should be defined
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*  IB Shipment Type should be defined for Cross Dock ASN

*  Module Parameter should be enabled on the RF Receive Screen for receiving Cross Dock ASN

NEW QUESTION 31

You are the Inventory Control Supervisor at your employer&#8217;s East Coast facility. Your employer is a 3PL, and your

customer is a large company that is also serviced out of the other 3PL facilities. As you start the shift, your Inventory Control team

members inform you of a significant change in the RF Cycle Counting process.

Lost IBLPNs are now updates with a &#8220;00&#8221; lock code rather than the expected &#8220;LL&#8221; code.

Which scenario is causing this issue?

*  You dismiss the concern because a change in the lock code has no impact on either the WMS Cloud or host inventories.

*  Your counterpart at the 3PL&#8217;s other facility changed one of the cycle counting company parameters and that impacted

your workflow for that same company.

*  An inventory team member in the other facility marked a lost case with &#8220;00&#8221; lock code causing all subsequent lost

cases to be defaulted to the same code across all LPNs for all company/facility combinations.

*  While counting LPNs at a location, one of your team members marked a lost case with the new lock code.

The new lock code is stored in system memory and applied to all IBLPNs counted as &#8220;Lost&#8221;.

*  One of your inventory team members changed his/her RF parameter default lock code causing the same configuration change to

propagate to all users in the facility.

NEW QUESTION 32

The following configuration is set for the Advance Shipment Notification type: 10% Under Receipt Warning, 10% Over Receipt

Warning, and 20% Over Receipt error.

Which two statements match the condition set if the ASN Qty is 100? (Choose two.)

*  When the Operator receives 125 units, the RF screen displays an Over Receipt warning message.

*  When the Operator receives 101, the RF screen displays an Over receipt warning message.

*  When the Operator receives 110, the RF screen displays an Over Receipt warning message.

*  When the Operator receives 89, the RF screen displays an Under Receipt warning message.

*  When the Operator receives 130 units, the RF screen displays an Over Receipt error message.

Used to display a warning message when the user over-receives the ASN detail by above the defined % value. The user may choose

to override this message.

NEW QUESTION 33

A Purchase order created in ERP is downloaded to WMS Cloud.

Which two statements are correct related to the Purchase order update? (Choose two.)

*  UPDATE is sent in the Header and CREATE in the Detail for an existing Purchase Order line. The application will add up the

corresponding &#8220;Order Quantity&#8221;.

*  The Purchase order header can be updated by sending an UPDATE action code when the status is in Created and Received.

*  Purchase order can be re-created by sending the RE-CREATE action code when the status is In- Receiving.

*  UPDATE is sent both in the Header and Detail for an existing line. The application will just update the record at Details.

*  The RE-CREATE action code if sent for an existing PO, the same PO will be deleted and re-created with the new details.

NEW QUESTION 34
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You want to wave three orders. Two orders had the same route number in the order header, and the other order didn&#8217;t have a

route number. You want to make sure the orders are assigned to the same load.

What should you do or check?

*  Change company parameter WAVE_ASSIGN_LOAD to One load per wave

*  Change the Task selection criteria to be configured to assign by load.

*  Add another route number to the third order. As long as they are waved together, they will be assigned to the same load.

*  If they all have the same &#8220;Ship to Name&#8221; and &#8220;Ship to Address 1&#8221;, they will be assigned to the

same load.
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